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Note : There are three sections A, B and C in the paper.

(ii) T TH 397 GEr1 & g4 10 971 & FR AT | T 97 G 3k F 8 v
Tt 10 977 TG TBR F T S 8 |

Answer all the 10 parts of the question No. 1 in section A. Each part carries
one mark and all 10 parts have objective type questions.

(iii) Q¥ & & 8 Fv 7 @ [T 6 99 & o AT | I Y97 3 37 FT 8 va
3THT 5 T3T/50 sG] § IR 7 |

Answer any 6 questions out of the 8 questions in section B. Each question
carries 3 marks and to be answered within 5 lines/50 words.

(iv) TFIT S 6 9 7 G gl 4 T & TR T | I 97 8 37k HT B 0q
FTHT 15 TTE/150 91551 4 IR g |

Answer any 4 questions. out of the 6 questions in section C. Each question
carries 8 marks and to be answered within 15 lines/150 words.

(v) A% GFT & G 59 H1 FHAR TF G 5T Hiord /|

Solve all the questions of a section consecutively together.
(vi) g1 T3t d 3= 517 @1 IR 7 37 srgare & A= 8 |

Only English version is valid in case of difference in both the languages.

WA - T
SECTION - A
1. () wreeH forem & fore fora forem s6ier o1 Suin fepa sman 8 7

@ s (b) T

(c) NS @

Which system call is used for writing to a file ?

(a) Read (b) Write

(¢) Close (d) Seek

% (1 0f 4) P.T.O.
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(i) Serfiepan fefor Teiiem 3 -
(a) CPU 1 Tdt= srerfiresar 3 oo sfsman & forg atrafed fora S 2 |
(b) CPU < &0 STeifiese o T1e T8 1 Jrmefed foram S g |
(©) T STl STHaTaT @1 Vege TE R ST Eehd1 2 |
(@) ITdea aeft ufshenat & 9 I8 T |
In priority scheduling algorithm :
(a) CPU is allocated to the process with highest priority
(b) CPU is allocated to the process with less priority

(c) Equal priority processes cannot be scheduled
(d) None of the mentioned all processes

(iii) I3 TR I ST ST ST HhaT B |
(2) hTSel 1 A (b) IS THHEH
(c) IS UEHSAl (d) Iw efiia 8 H18 T&l
File type can be represented by
(a) file name (b) file extension
(¢) file identifier (d) None of the mentioned
(iv) o 5 UTHas gt i @ ?
(a) 3= HET EE L | (b) 38 wren & fepan ST HRAT 2 |

€ TERTREFMATEI () T T A RIS TEaE R |

Why is one time password safe ?

(a) Itis easy to be generated. (b) It cannot be shared.

() Itis differgnt for every access. (d) It is a complex encrypted password.
(v) TR feen H, Tedeh TisHAT 1 ST BT & :

(a) o e 3R Afvas =

(b) Teh wTE

(c) i arerd, et ot fer deemt

(d) S i adft

In Operating System, each process has its own :

(a) address space and global variables

(b) open files

() pending alarms, signals and signal handlers
(d) All of the mentioned

i) it 3, fewn i wedss fomm H sifom iy ae W 2, fo fowe &
37 3 ST fa feer ol qid ST AT @ |
(@) F (b)
(©) H-Thd (d) -
In the  algorithm, the disk arm goes as far as the final request in each
direction, then reverses direction immediately without going to the end of the disk.
(a) LOOK (b) SCAN
(¢) C-SCAN (d) C-LOOK
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(vii) TeIleR :
(a) ITel % SO ST IUTNT oA 1 FFAfe &
(b) AE T 3 ITIFT HEAT
(© ()3 (b) TH
(d) T BETE

Scheduling is
(a) Allowing a job to use the processor
(b) Making proper use of processor
(¢) Both (a) and (b)
(d) None of these
(viii) 5/t Freft T 1 foeh @ =1 @ foe [/O i STraashar gl 8 dl 98 T

IR AT 2 |
(a) Hdrg e fowen wia (b) TR frgen % ferg R e
(c) e feror wiskam (d) U efRia at
Whenever a process needs I/O to or from a disk it issues a
(a) system call to the CPU (b) system call to the Operating System
(¢) aspecial procedure (d) All of the mentioned
(ix) T & @ & vt w1 ged %9 gufd e g ?
(a) ol w18 (b) TERRR
() UMemaed (d) uEeS
Which of the following is the least secure method of authentication ?
(a) Keycard (b) Fingerprint
(¢) Retina pattern (d) Password

(x) SRR TEEEEAGT
(a) T 3 fore o shH Wl 2 |
(b) e 3 feTE % hH W IS Tiwd TR @ |
(c) ugd Sldsifera AT AR 2 |
(d) v It an wfosfa T R |

For a direct access file

(a) there are restrictions on the order of reading and writing
(b) there are no restrictions on the order of reading and writing
(c) access is restricted permission wise

(d) access is not restricted permission wise (1x10)
o — it
SECTION -B
0. feteh TTa ! HEY § wHEST |
Explain in brief Disk structure. 3)

P.T.O.
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10.

11.

12.

13.

14.

15. .

wh otk Siggfer wenfem s Hag § quesy |
Explain SCAN disk scheduling algorithm in brief.

TR e & Tran = ] ? &Y A THAST |
What is OS security ? Explain in brief.

R Tom R R 7 989 H guEE |

What is system program ? Explain in brief.

farfi=1 epR < wTset foren i TSy |
Explain different types of file systems.

rafem free 6t gfrmd) srauRen 1 Hag 3 g9Esy |
Explain in brief basic concept of Operating System.
TITHIYE T 7 ? R H TR |

What is Segmentation ? Explain in brief.

FCFS Y89 gdfei7 ! T8 & gaersy |
Explain FCFS process scheduling in brief.

YR —
SECTION - C
FrRfen firen # wu vy Aawde w1 ® ¢ foar @ gwesv |

What is swap space management in Operating System ? Explain in detail.

0S Tt o wed Tged o § 7 foream & wwemsy |

What are access rights in OS security ? Explain in detail.

FAA TR ? el g 1T ST a7t Tafir= st o) Ememmsu |

What is Kernal ? Explain various tasks performed by the Kernel.

SRR Werr ! foean | woemsy |

Explain directory structure in detail.

RSt T 8 7 o & TmEe |
What is paging ? Explain in detail.

TEG Qe w7 2 7 Taedr @ wmesy |

What is process management ? Explain in detail.
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